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Subiectul I 
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b. 7 1 10 1 13 1 301 14 1 ...
2 2 3 3 4 4 100 100

x = − + − + − + − + + −                                               2 p. 

300x =                                                                                                                 1 p. 
Finalizare                                                                                                                    1 p. 

Total: 7 p. 

Subiectul II 

Presupunem că a a 1 7, 1 6i i i++ ≤ ∀ ≤ ≤                                                                      2 p. 
Dacă                                                                  2 p. 1 2 7... 25 2 50S a a a S= + + + = ⇒ =

1 2 2 3 7 17; 7; ...; 7 2 49a a a a a a S+ ≤ + ≤ + ≤ ⇒ ≤                                                       2 p. 
Finalizare                                                                                                                    1 p. 

Total: 7 p. 

Subiectul III 

1 2 1 2 1... ... 10k ka a a a a a a−= ⋅ k+                                                                                      1 p. 

1 2 1 1 2 1... 9999 ... 10k ka a a a a a a− −+ = ⋅ + k                                                                        2 p. 

1 2 19999 9 ... 9k k ka a a a a−= ⋅ + ⇒                                                                               2 p. 

1 20 ... 11110k ka a a a= ⇒ =                                                                                        1 p. 

1 29 ... 11109k ka a a a= ⇒ =                                                                                        1 p. 
Total: 7 p. 

Subiectul IV 

Figura                                                                                                                         1 p. 
Notăm  si  bisectoarele unghiurilor EOF respectiv COG. (OP (OQ
( )AOP 108m = °

)
° = °

                                                                                                      2 p. 

( ) (AOQ 70 EOQm m= ° +                                                                                   2 p. 

( ) ( ) ( )POQ AOQ AOP 108 108 0m m m= − = °−                                         2 p. 
Total: 7 p. 
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